a2 -2

BERRRURERE - BREEEXES—5
1 WERR

(1) DHEHITKEZRVENERER Sf44E9A 30 IRTE
e B |8 (TM) =5
N+ ARREE 683 12,553,000
682 11,453,000
— g&% 341 6,428,300
Al 338 4,764,700
5P 3 260,000
1 1,100,000
i NE 0 0
AR 75 1 1,100,000
BMEMER 2,216 24,678,846
2,040 22,086,546
Eiy 786 8,830,100
K 676 8,627,300
BEMAMmE |2E 470 2,779,046
BETL 53 1,080,000
1=t 31 427,100
B2 24 343,000
P, | 155 2,204,000
ZSEl 155 2,204,000
BHEKES 21 388,300
NHTFKIER 3 51,000| % > R—ILR> 7
EEERKEE 2 350,000|%>H—nkr 7 mmis
aFt 2,904 37,632,846
(2) BRFAIE DREER
ITHMEER. FREBER. NEEE I 2,402,784 FH
(3) BFY - BEAEWE
WEEE 36 4ha 1,145,440 TH
(4) IR
FABEEEEM 5234 |FLEK1631 / E TRk 374 6,100,570 FH

47,281,640 +H
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91010139
長方形


2 WEREFICEISZIL

(1) ARIHE
e THTRE KERHEE
10%& 1% 14
(2) WERATSM - FITHR (Bfr:  #)
e = AT EBE
Y SCEERR | 4R AR | Y SSEERR | ARsaERR | v s aERR | s
424128314 1,470 1,895 1,470 1,895 100.0% | 100.0%
SH3%E1185H 1,471 1,895 1,471 1,895 100.0% | 100.0%
B 1 0 1 0
(3-1) WERRRERE/EMHR (RFD (Bfr: #)
KA ] o —3 _ | #=
z0= 2 | L R MeE || ERE |
424128318 115 248 633 14 331 357 1,698
SH3%E1185H 115 248 633 14 332 357 1,699
3 bEE 101 205 514 11 237 1,068
B 0 0 0 0 1 0 1
(3-2) WERRRERE/EMR (R (Bfr: #)
a Rkt b KT A
&k KA —3 KA —3 BkEt
X 2| L, HE | REE | | REE | 2R | T HE | REE | | RTE [
TR 43 167 264 0 10 484 1 0 9 2 110 122 606
1l 3 38 214 0 2 257 0 0 2 1 35 38 295
e 2 4 24 0 0 30 0 0 0 0 31 31 61
NG 3 1 45 1 2 52 1 0 1 0 41 43 95
- 3 25 16 0 2 46 0 0 0 0 7 7 53
EEESE) 2 1 9 0 0 12 0 0 0 1 45 46 58
Kik 1 1 14 0 0 16 0 0 0 0 16 16 32
HEF 0 1 10 0 0 11 1 0 0 0 13 14 25
5E 57 238 596 1 16 908 3 0 12 4 298 317 1,225
(Bfr: #)
B L C zoft
& e —% PN —%
31X 245 j;tg Y| gEyE ﬁ;‘% +wst | 2= . yiE | gEyE ﬁ;‘% Z Dst
pakes 32 0 8 4 4 48 2 0 1 1 2 6
] 0 0 1 0 1 2 1 0 0 0 0 1
EL=) 7 3 3 1 1 15 0 0 0 0 0 0
NG 5 3 5 1 2 16 1 0 1 0 3 5
N 1 0 0 0 0 0 0 0 0 2 2
FEXM 0 0 1 0 1 0 0 0 2 2 4
Kk 3 3 1 0 0 0 0 0 0 0 0
HEP 2 1 4 0 0 1 0 0 0 0 1
&5 50 10 23 6 9 98 5 0 2 3 9 19
(Bfr: #)
s A+B+C HEMERAT 5 HEES
xas | o —3 ) xms | o —3 )
X e HE | EE | g 2 | L, i I g
A7 78 167 282 7 126 660 70 132 240 6 17 525
1l 4 38 217 1 38 298 4 30 165 1 28 228
e 9 7 27 1 32 76 7 7 26 0 16 56
KA 10 4 52 2 48 116 7 4 36 1 38 86
N 4 25 16 0 11 56 4 25 11 0 9 49
EESD) 2 1 10 3 48 64 2 1 7 3 46 59
Kik 4 15 0 16 39 3 4 15 0 13 35
HEEF 2 14 0 13 33 4 2 14 0 10 30
&E 115 248 633 14 332 1,342 101 205 514 11 237 1,068

2/4




3 WMAEZEICHTBIL

1) FLn7REFEE ABRR
EERF 2087

(2%8) 7LNTRREEHIABRR

WXy | ABF#%| siAt | ABitwk| 1Ak | ABEH| Ak FER | ARt | ABEHK
2iE 8 0 8 0 10 A2 TtH 32 44
KA1 39 A2 38 A2 63 A6 &1l 0 0
iz 45 A3 44 A3 81 A9 FRN 35 62
HEAE 0 0 0 0 0 0 i) 10 28
—EpIELE 0 0 0 0 0 0 ANH 3 7
Z Dt 0 0 0 0 0 0 KEE 10 13
Hi 92 A5 90 A5 154 A 17 B 90 154
(KZofth : ZRKEBHICLY, REIChAEYELOERBICEETERVLEA)
(2) &%k LIRRIEE ZHIKR
WKXS | 2| iRk | ABEHK| siAk
e 4 0 11 0
KA1 6 0 9 0
B3 14 0 27 0
i 0 0 0 0
—ERIBE 0 0 0 0
it 24 0 47 0
(3) WABICRIXIESFOIHKR
WK TERRERIENE
EMXiES mEXES WERI
TAGHFER RIEHE
EREE AR o | e | ST ma | e | me | &y | s | BP
R
248 92 92 92 72 11 29 22 7 69 101
KA1 220 220 220 148 12 18 104 13 147 205
iz 118 118 118 40 7 23 7 3 40 514
HEAAE 11
—ERigiE 237
RIS & B IR 90 90 90 0 0 0 0 0
Bl 520 520 520 260 30 70 133 23 256 1,068
AL 0 0 0 1 0 0 0 2 2
MIRIRIC & 2 2BIR VTR = I REKE T 5,
S N RE=cI=F:: PN
FEFREERE () KERES (A1) A
X2 Tib REHE
EFRE SATEER | ISR | AT | e S ﬁgf AT | SHEHEER &)
24 23 20 16 14 90 90 90 101
KREIE 18 16 14 13 216 216 216 205
Fim 25 23 5 543 543 543 514
AR 0 0 0 11 11 11 11
—EpiaiE 0 0 0 238 238 238 237
BRARIC & 5 2RV
&t 66 59 35 31 1,098 1,098 1,098 1,068
AL 1 3 1 3 0 0 0
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4 IWEE- ZHLBFICETHIL
(1) REMAREIDHEEE B) SR

(2) FEMEFHELDHESEREDZMER

(Bfr: #) (B A)
AR e e BEE AR e B WEE
524118308 212 210 99.1% SM3E2/28H 45 44 97.8%
425128318 212 212 100.0% 4#3%E3A318 45 45 100.0%
K 0 2 o 0 1
KO RUEISRBEED, S F v L EEE LW ARG THBEED S F v L EEE LI WG
(3) BAREESH - BIEIKR
(fr: )
Em e =7 o
HE AR R R T
SHI2%12831H 338 338 332 98.2%
SM3E1A31H 337 337 337 100.0%
o Al Al 5
(4) HE BB - BT
(Bfr: t)
AR B3N W HE S
42568308 26,300 26,300 0 100.0%
(5-1) RERGFEE LE -8B SHEHK (5-2) REREZHIE - ERIKT
(Efr: #) (BEfr: t)
AR KR HE BEE AR BEAR ] BE S
SH2%E11830H 277 236 85.2% SM2E12H31H 15,250 15,200 50 99.7%
SM25F12A318 280 280 100.0% | S#I3%1A31H| 15,400 15,400 0 100.0%
R 3 44 HERL 150 200 A 50
KO RUEISRBEED S F v 2L EEE LW
5 HBIES - LB LWMBcEATBIL
(1) BESOKR
EREEES PR TR TR
B A e, PO =, $H0 @/
E—R R1.11.22 1,124 60,750F M 1,124 60,750F M 100.0%
BIR R2.2.5 1,124 162,000FH 1,124 162,000FH 100.0%
F=0 R2.6.3 1,124 101,250FF3 1,124 101,250FF 100.0%
UK R3.11.26 1,124 54,744FH 1,124 54,744FH 100.0%
it 378,744FH 378,744FH 100.0%
HEES FREAE XU SHE
RAZEES B SO e, Y6 @/®
B—R R2.2.12 1,125 62,811FH 1,125 62,811FH 100.0%
B 62,811 FH 62,811 FH 100.0%
(2) &% 8 LMBOKR
AR SMTEE | SM2EE | SM3EE | SM4EE st HA fe
ENRS B = &1
(¥ YEMHE) 186,936,686 94,775,200 128,800,500 21,280,000 431,792,386 4,106,200
RSB = L
(855 & LIbEFE) - 74,050,000 23,250,000 33,500,000 130,800,000 -
it 186,936,686 168,825,200 152,050,500 54,780,000 562,592,386 4,106,200

KEARRS D & &fpFL L,
KIZERRSD & &R L.

SHM4ESA3IA £ COER
SHAEIA30H £ TORE
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